11.

.

B
\l}-/‘ BT AR Tl [eEgod Ue'E J

c) H58

L fod faog Aee Ssfaw Fr Aae o1 7

d) 3=z

. 0 PART - A
e A e © vEE FH 95 BT fed faga mee Tsienr v Raer 32

a) HAS® b) €90 ) S3wars d) =s=fams

vz o JIF-fEES! Har &% He WHE AR 1=

a) faﬂ&ea;éern?afs'gméém o) < sifeni o s feara Bfent o g 3
b) éﬂ-iﬁm@ea@maﬁj@ d) Serserad In 3

Wﬂﬁﬁéﬁ%w%wﬂﬁmﬁm

a) ameﬁséawmaa@hﬁW.“ﬁaéamaaaaww
b) w@ﬁﬁaﬁwmﬁﬁww‘@?%&wﬁe&aw{
c) weﬂﬁéﬁmwwmﬂﬂaﬁwﬁﬁaﬁq
d) wé@ﬁ@wwﬂa@wmﬁa%ﬂm‘aﬁawr’
~qué€afa?aﬁsmﬁmrﬁ‘ﬁ?ﬁmﬁmwé;

a) Gurvinder has gone 10 the market to buy a book. o
b) Gurvinder was gone to the market to buy abook. 1+ ' Sty o)
¢) Gurvinder had gone to the market t0 buy a book. P2 T
d) Gurvinder gone to the market to buy a book( e 57
it e wHe S A IE” HI=S T MIE I :
a) SIS UETEE b) et 996 9T ¢) §&HE I d) T HEs B8 9T
= T IAS I WEE” yae3 T WIH I
a) Weraﬁraswéf c) aﬁaﬁwé&aaﬂf@ﬁwmgs
b) gaﬁawwaﬁwsf d) s T WErd B TE
2 firg 3l S8 HIES T WEE
fra 2 S IS AHEE ¢) EmgE A ST

S o o e A U 8) i & e S 3
‘W'mémmmj; 7\ 4
a) foaeos Ersd B D) sgego uaTr O frerego Ut @E@w
e e € fenraed Y '

@@a@gmﬁﬁm b) HgTEs UEd c) foaegs UK d) HgeTs s B9

feg framgs HEI < fod o' e do
a) U b) 8 ¢) #3 d) W&

i, G, A ¥, gﬁfag%gaawﬁﬁwggawﬁamasammﬁmmm

el e T WE IS ? :
b) A3 ¢) e d S

a) fregs ufer o &<

) SgeEs uft g &Td 6%
/' gudimi e S fenaEed UE'E I
a) fear=as ufdar v 3% oy HigeEs fenad far v &'
=
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-%nswmaﬁa‘aﬂta
¢) Wdsfegeaed)
d) Wit wier fieg wiEg v fami







b) %9, o, i, i, e, o, . s
<) m.aam.m,m.ng‘.hw.mvhal

¢} haven't d) has

3. " TmHwge Y |
TH B By o fygt 32
a) e . W
6. -rmnrwﬂeﬁ%méaagél
b) fewg
7. ‘Fen FEe B wdss fmar

i e e

g, ‘welE Fue fan g8 o Ay Y.

9. /;gymgmw:%a:
\ feaegs, a7, yaHTH Ugsie

b) f@amaaﬂymﬁum
10. ‘e & ERad Bard

¢) uFe d) 3

c) ™E d) famr

c) W d) o

c) s TaaaT d) THSTHA ST

¢c) Feawes, 5o, forgewa ugse
d) ufa, frEegauzs=

LBE b) Emret ©) Tas &) Sty
. wnd uBt 2 Je HTRI T TENT D -
2) T EgIAERE  \b fieddEe o) Faeudr d) ford e
12. Tdee o edggnd BEE 3 :
a) 293 b) SgAard ¢) wert Qo
= Page -5




22.

d) Sa

3) h) I9AE ¢) I
3= e FEE AYY feuf frgT AEE-AT :.n?[;qa}a / d) TG
&) AT, ¥ o, rr—]-ﬂt"'_* E}/ﬁé?
p) N, Haaat, e d) g m@‘a
Which of the following co! ymmand s NOT present in Quick A 3
a) Draw Table b) E-mail <) Print WsTm]hEIﬂfMﬁ Word 2 3
= fondm it (29 faadt FHE WHA, T 2 A ity d) Prepare :
- I Redgendian |
a) I HS b) ©- clﬁk‘m , ? e |
) fipime F |
Which one of the following is NOT an Operating System (0S) 2 £
a) Windows 10 b) Linux ©) DOS 3 _ ’
st 35 faow B Gudtar fimer (08) &t — dp S Excel
a) a0 b) SESIH o) F
R ) & & & ok
Which of these toolbars allow you to alter the fonts® sizes ?
a) Standard b) Eorli'fditlﬂl_., ¢) Options d) Design |
feas %@me#emfﬁmam%a? |
a) A3 b) ganfear |
¢) SuEn d) feds

Which is the shortcut key to start a presentation in MS-Powerpoint from the beginning 7
nh-r/&av ueg Une &g, g3 3 JASHS Bg 996 o9 gaede o fagdt 32

o F5 b) ALT+F3 ¢) CTRL+FS d) SHIFT+FS
Which of the following is NOT a social media platform ?

a) Facebook b) Twitter ¢) Instagram Vﬂ’gm
fegs' &8 Goar Ang Hidhw uBeaaH 5l 3 7

a) 2FES b) efes c) fReaH d) T2

The “8” in HTTPS stands for:

a) Selected Vbaéure c) Software d) System
HTTPS f8 8" & nig8 3 :

a) ABEEE b) AIGT ¢) Hecang d) famex
Which of these keys is not on the number d?

s 89 forrst 940 e Sl 3 B 3 /
a) Ctrl b) Del ¢) Enter Num lock

The higher the resolution of a monitor, the :

a) larger the pixels are
b) less clear the screen is

ffa wates T SnfsEns e <a 9T
a) fuems €5 &t 32 9=
b) FEStE G & We me 9%

c) further apart the pixels are
d) closer together the pixels are

33 g9 I
fodts 33 =R

Page -6
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OT correctly matched 7

L;}y?;ummak Dev ji — Asa Di Var
ura Ram Das ji — Akal Ustit

- ) WIS _motpn o OO RSN
-_',k' { b) Q‘glﬂmﬁ_r‘—- c) @gmé‘{?ﬂ wrSlTg
- d) Fig greH A - WS GRS

26 Mardana was the deve
ted Muslim follow, :
oy - and co i 5§ which Sikh Guru ?
a) Gueg Teg Bahadur i i mpanion of w -
by Gurn Nanak D‘evjijl ¢} Guru A,Ar_iun Dev ji
Haerar § i Singh ji
o b g g B o
) 919 3T "oy oy :
I LR /b CIE LT d c) ﬁnﬁﬂﬁeg;ﬁ d) gig e fiw
low many shalokas of Sheikh Farid have been included in the Adi Granth ?
e 3 2die 2 S m8a Wi o 0
R A= b) 118 & 13 dy 122
28. = -
Who 5mongm the following was not associated with the Gadar Party ?
a) Tarak Nath Das e e Bioole
b) B ¢) Vishnu Ganesh P\ﬂg'
Mauvi Baraktullah d) Ganesh Srikrishna Khaparde

95 188 9 = smg wadt o Aoz a9 @ -
a) IS FETH b) ¥ ggads <) wmm d) m@ﬁﬁ’:ﬁ;ﬁﬂ

29 *‘Doab” word has been taken from which language ? -

%) Aoy \)”éﬁiﬂ* ¢) Urda d) Hindi
a) e b) EaF ¢) &g 4y fid
30. Sutlej river enters the Shivalik hills at which of the fo : ing place in Punjab ?
‘{;’E“f ~ b) Anandpur Sahib WKI d) Nurpur Bedi
w33 i g 3 fisdin R faradh & 3 firerfisey vt ugr i g e 90 32
a) guUBIE b) wheyeERE o) &N 4 cs SR
31.  Punjab constitutes how much mm@fﬁwmg
a) L5 b) 25 < 935 d) 22
gl
}yﬁm@v b) Sirhind \})/ Nangal ng Talwara
/ wafde o efw 3 8 foamdt 9 -
a) FuUEIE b) Aefie ¢) &5 d) BT
3 : S . 3L by:
33. The Election Commissioner of Punjab is appointed | ”
3 ; he S i the Chief Minister
e Governor b) the ‘all‘ak?' . c) the President d)
mé a5 Ex““;‘—"'r-'-;' d <f i6Wd '-‘:_' é’é ﬁ\a? &
A ) itEa ¢) IECUR d) WeHER

8) IFUE
S sa-D Page -1




39.

40.

41.

How many scals arc .rcwr\cii,')ﬁ women in alj Panc

; ey ARChays

a) one fourth b one-third Ayats i Pu
SR ©) one haig

e St T?TijFY»_l" gt T ‘.E.,:t, IS g o 61 3
Uag it
a) feg gdg= b) B faad

Njab g5 all levels »

dy Hion
3 %mw SeTvation i
€} “ifwgs i Oy

Which of the pairs is WRONG ? d) Hgm =8 a8
Ty
=53

a) Novelist — Nanak Singh

b) Short Story — Sant Singh Sekhon wiﬁs— Jhruitgpmam
Titic — Raks
o RO AT aB3 3 2 T
a) Fesad - 5ed Ay ¢) e
b) By FTE - HI iy 7Y mh B g
—== -8 v

Which of the following rivers is associated with sk
=31 5
a) Jhelum b) Chenab \/th 91y of Sohni-Mahiwal?
in

RISy & H FIe 35 0 R MR eow sm ma 9e 3
FE T 3
a) HIEH b) __E_l?i_"ﬁ o) B e
Which “victory-dance’ is recognisable by swaying movements of the
€ head 7

a) Dankara b) Julli ¢) Luddi
o iz firg @ RIEE 575 UEor T meer d S
a) JFaar b) T8t ) SH d) i
‘Mera Rusi Safarnama™ has been wriiten by :
a) Balbir Singh b) Prithvi Raj Kapoor Balraj Sahni d) Bhai Ram Singh
"HET IH Aegs T fon evrar fofr e
a) SEHlS iy b) AEASHRYS o) sEImAOS d) T8 T il
Arrange the following important events in the history of Punjab in chr gica ‘
(i) Jallianwala Bagh Incident il (iiri: The Grj;adar ;0:::? T:i;dﬂ :
(if) Kamagata Maru Incident (iv) Battle of Saraghafl et
e & ot S 3 it » e weETe § A e R Y
(i) ApvTT AT (iii) IeI BT
(ii) FHAETHGUTE (iv) mewE & I
a) (i), (ii), (iv)and (iii) €) (iv), (iii), (i) and (ii)
b) (iii), (ii), (i) and (iv) d) (iv), (i), (i) and (1)
The famous Sikh leader Banda Bahadur was captured and executed during the reign of the Mughal
emperor :
a) Aurangzeb
a) WIae b) sTEg AT ¢) FOTSHY
21 of the Constitution ?

Which of the following is out of the purview of article
¢) Sexual Harassment of women at work place

Capital punishment
B 3 Right o life

b) Right to livelihood
%Wﬁé‘ﬁwmémﬁfzi 2 o3 Iged?
¢) a‘}feﬂﬂ??ﬁas'*erﬁsﬁ?ﬁas

b) Bahadur Shah I ¢) Jahandar Shah d) Farrukh Siyar

WITE FEHd e I SgB S A O RS I A
d) ergu fme

) s e nfEd |

a) TS RT b) It-3& v winad
/w‘
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42,

43.

46.

47.

48.

49,

50.

“a) China b) USA ¢) Russia

= OW
g ich i ?
] SO
ﬂR‘E 15 ngy a
ﬁﬂiﬂﬁ'h-]'eﬁ.? ll““'bcruf'.,m_)ﬂ 3
a) 2 'ha?;:a.t OLse of Parliament can also be an
0ths (2 2y i e %6 be appoiny

The Eiecﬁqn 5 3 Monthg (& ){gﬂ?; Ml adirg 55T @3 7 e 8
Ofthem_- Mimjgs; 2 C}(-"Fl’lm]h = ; 3

B State a‘}-‘rlscsw c'm{)f[he S (6335 4) 9 months (9 W25

'I s =
a) (:;;R S ) ature 9 fol!.u\nng N1 matters relating to the disqualification
In Ch]ef = 1Isqualihicaton
“?%ﬂaa} Jllsllcc
aj FAUE & ofﬂgh(tiun €) Chief Minister d) Speaker
What 4 D) Tz g gy o TS S 35 et 23 e v
. natdo we il e - Hifey e .
the <-.||Tulmdings'_" Process in w}uchmexchan il sbigrss
L —}-\é;;ihm!'c h} ISOth €8 of heat energy takes place between the gas and
A SR Yiafanr . £rmal
3 1 “’§ﬁa%?__ﬂ*ﬁﬂﬁ'amw ¢) Isochoric d) Isobaric
) SONHEE b) W EYBe Ruurs 3 G e 38 wetey g der 3

The '(iree]}hom effect' c) wrERaea dy ~rEnwfss

is produce

b)p”i‘ e e PIESence of excess amount of :

: A ot en dionie ¢) Carbon monoxide d) Methane
Ll s R ETSE g |

a) Suiphur dioxide

a) 55“ Decfbels _ b) 60 Decibels " ¢) 75 Decibels d) 90 Decibels
MWWW{CPCB)W%Q?W%@HQH@WWH@HEW
Io i RS fggzr -

a) ssm__, b) 60 3EE o) 75 =S d) 90 3=m

gh fnhm‘;f\gﬁe l?&‘?) ‘{";;heqamsphm consists of the ozone layer that is responsible for absorbing

¢ Ultra-Violet (UV) light ?

a) Troposphere b) Mesosphere §) Stratosphere d) Rotwsphere
TEizE S frge yast R fam e 69 We3 98 Fnsceroide (g &) 3 § Fa as v
finead?

a) afafewa b) ARfAfewS c) Ae2fRfawa d) F2frfma
Which country is the highest contributor of per capita greenhouse gas emissions '?d) .
It fewast Mwe-mﬁamgaummwawa ?

a) 95 b) wosar c) g° d) ¥3 |
The Nobel Prize for Physics 2022 has been shared by three scientists, for their work in which ﬁell.i i
b) Quantum mechanics ¢) Atomic science d) Space Science

a) Nuclear Physics o ;
- 1 St ﬁaﬂaaﬁa@gs‘reduaawm'—m r
3f3q fefamis 2022 S ORS YIHIS fifz ReRmra ST

ﬁsgaﬁwa’ga;ﬁﬂ b) EnieH Haloan ¢) vang s d) wre RS
What is the theme of the G20 . .inmit happening India ? et
a) Shaping an Interconnebied f-\'or!d 3}} mmi:?y Future
b) Fighting poverty % 11h rigidity ogether

Page -9




gz g a3 A0 ABSE T EMA Y2

2) wuH fFg g2 Arg g aS eF
: = o2 <) @awﬁ.ﬁa
b) FSI &G I FE BIS O S Uﬁ?a.ﬁaaﬁu
- Choose the incorrect acid-source pair ? o 5%%
21, 1o0se the incorrect acid-source pair ?
a) Citric acid — Lemon d
b) Lactic acid — Sour milk :I:l} ?4“{-::111: acid — Any sting
Methanoic acid . n
eI AEAI3 AT TE? © 8¢k~ Nettle sting
a) fhefas Rz - 68 ¢) Sadfsaag :
b) Batfearifig e €0 s ~dfter gy
52 Which of the following is not a part of the flower 2 *tﬂ!a#
a) Petals b) Sepals ¢) Pistil
st RS oz s T O adi 92 d) Pericarp
a) desd b) RUSH .
) furfes
5'1, o 3 s —ated by only % d) ﬂa‘a’a\l
3, A market structure dominated by only a few firms is called -
a) Perfect Competition b) Monopoly <) oﬁgop;“y 3
firge 3§ 2o & oued T8 Hedic SO S e e d. ) Monopolistic Comperig
a) HYSE HEEE' b) e=rfEa c) S &) it
54. Which Article in the constitution of India deals with the Annual Pinancial s
a) Article 111 b) Article 112 c) Article 123 d) Articl ,?
g3 2 Hfeus o fags woee RS B s ss Adfus 3 2 2 =
a) WacEs 111 b) WSS 112 ¢) WIAEE 123 &) weads =)
55. When too much money is chasing t00 féw goods, the situation is : :
a) deflation b) inflation ¢) recession d) g@
| 7€ 593 fawrer T 593 W 99 © Metager J, S nfadt 9
' a) FReBHs b) HESHAS ) ¥t d) FRadnE \':
56. In which year Lala Lajpat Rai was deported to Mandalay for organisi the agrarian &= :
Punjab ? TR ' Il\ f
5 x R " g A
mwwmaﬁgwﬁaﬁmmmmmfmwwg? 8
a) 1905 b) 1907 c) 1909 d) 1911
57, The objective(s) of the Kuka Movement in the Punjab was/were : {
a) To punfy Sikh rt?ligion of i-ts abuses and superstitions ¢) The revival of KA
b) The revival of Sikh sovereignty d) Both (a)and(b) _ "\
mﬁagwaﬁ:aevé@éﬂﬁr/m; - '

a) ﬁﬂﬁﬁﬁﬁﬂéﬁﬁgﬁﬁﬂ#ﬂ?hﬁﬁﬁ#?ﬂﬂm ¢) ¥SA S y5T FIHE

b) fife ygHar & usa BIFIST d) (a)n3(b) ==
58, Which among the following acts is also known 10 be a beginning of the parliamentary Systen

a) Indian Councils Act 1892 ¢) Indian Councils Act 1909
b) Indian Councils Act 1904 d) Government of India Act 1919

%mmﬁ#mgmﬁemmawﬁﬁmwm
a) s 3RS niae 1892 ¢) s AAs e 1909
b) fiFmis dRE wieEc 1904 d) 793 AEES Wae 1919

59. Who among the following was the first Martyr of the Revolt of 18577
a) Paltu Khan b) Issrel Pandey ¢) Mangal Pandey ) Amar Singh

Page
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61.

62.

68.

The Ba-l'dnh Sﬁl}fa
a) Raje“d,.a P d

b) Mak;
H"d‘é’g‘t dling %
‘ Mﬁmﬁ . Gandni \‘Mlbhhilai FPatel d) Morari Desai

Was led by - ©) Vg d) o i

a) Seg - m%mﬁ
Whi Y Wy :

R Indian team woq g, Rani; Tm ) T TR uSE ) Pood e
a) Bengal i M1 TTophy title in 2931 »

; . it _
3“23%1’&3315"331&“ i ¢) Kamataka d) Madhya Pradesh

. ?;a‘fﬁa-ana %
a) shry b) o Rt o o o Sy SRS
Which is the venue of the As; Gt ©) SgFen dy WoySH G‘_’,}D\ % T
a) India “ é:f‘G&m-ea in 2023 9 g 5: B P

7 in ¢ - ! ) L - =
2023 RS 2w G o s a o ©) Indenesia d) Nepal S G0 7 -
a) 93 b) B"?,_ J \ '1 )';
= i d) SUS v L e
Who among the following § z ©) Bzt s c
Film Festive :Wordsﬁo\\;gg;%tlw [P O e B s awar in the Dadassheb Fhalks Infenigigal 971>
3) Alia Bhett " b) Deepika Padukone c(__Kangana Ranaut d) VidyaBalan
WH@HM&W@HMWIWS%WWQWER@&E% 2
a) hﬂwgﬁ b) ﬂﬁ-ﬁ“wgae ) ma@a d) fefonr 955
Which was the first Indian movie to win an Oscar in the category of best costume design ?
a) Slm‘:ﬂngghg_nﬁjrm b) Mother Todn ¢) Gandhi d) Sholay
7S 3 T D fmrdle o et e wHaE e o6t ufng st fEoH R A 2 1
a) FEHa fsEaE b) g R & st a) #8 B
The timeless Indian novel “Devdas™ was writtenby © 0, o
a) Rabindranath Tagore ¢) Mirza Ghalib ?;,J{ .
b) Bankim Chandra Chatterjee d) Sarat Chandra C haﬂopadhga-y( 7
A sadioss R evofsherfedt . o, ., 0 4
a) ThRicsmESNT  b) dSnides Seet ol et < & t%ﬁiﬁ o
Find the missing term (2) in the seriés : 3, 20,6 9" o, @% 6 3‘%‘[\114 B
= ATl e ' e 2 a3 2.0 &y

A fEggHIR (N EEE S 83 144 . g a=
a) 354 aﬂ; ‘ vg i) 548 7 d) 554 3

s v e : : bl _
Choose the pair'of words from among the options that will fill the blanks so that the Wm.
e and meaningful. L5 isto Corkas Box 1510 - g | (‘;‘
hes R : i rate o
2) SpoutCrate  b) WoodFight . c) Bottie-Lid 4 e Le2

23 12 e B Fee T AT EE, AME w4 ST R I RTI RN NI NG o v L 6%

graa 58 3 i A as 531
& i c) 53583
a) AUge-age T | :
Choose the.odd numeral pair in the following question :
Z o -

el
v




70,

- i

V
\ YV
® e

A
X .‘.\

5\

a4

| 0
3 75

\ ATy

N
o

!
A
q0
¥ .

”

2P
ey

<z

If Anil says, "Ravi’s mother is the only daygy,
S 2 1y daugly, .
a) Grandfather b) Father SRIET of my Wother™ 1
i . * s Mgy % An
AT wiss affer 3, 'S 2 i Rt o ) Brother _—
LI Pe -, JdEl I H Hat &t r=p. o 310 R o [ ¥4 | )
= :'tﬁ;}? ; 5 Iy A1) | ""“\&3

a) Tr b) ﬁ_,g- \dﬂ-&'a@%_zamu; f 1t | .l

b
Raju drives 25 km N and left ;

; Y : d 1 es 25 km f\ﬂrli‘f and turms ieft and travels - d) fegm e
covers another 5 km. Afterwards turns to East and_(j T8 and reacheg paint : L
travel to go baek to the starting point ? TIVes S km. How, > He, theg

Which two months in a year have the same calendar for

a) June, October b) April, November . ¢) pril, July &) Oc

TS @ g R ieifeonit 2 i 30 o5 Bl A8 e R i g ) October, Decener
A b), wijE, SR &) e, d) "IgEs, wrng H .
fl;“l;g:gcom:ct_ mﬁ#:fh;;igl mg:s méi;e ;glgg%i Q%l;‘:;; Tm.‘;:jﬂl given ah',:',jﬁ‘f‘g—l % - Nj
a) +, —, X g7 R €)= %X % d) -, %, + ;’: i"ﬁa?

Select a figure from amongst the Answer Figures which will continue th i 2
& - s = € Same series as m,@k
the five Problem Figures. hed by 5

VO
%emﬁ@mﬁ#mmmwmwmﬁﬁﬁm.%: b |
Problem Figures _ Answer Figures -/ﬁ/-‘; {,‘JJ 8
|1l =l 42 = -
| = == 158 %
A B C D E (a) \/{1 © (@

Figures A and B are related in a particular manner. Establish the same relationship between figures C
and D by choosing a figure from amongst the four given alternatives, which would réplace the question
mark in Fig. (D). ‘{s
fifzg A W2 B filg v IS B AEUS T6 | iy osfzs S RidmegEldm O3 D es J

s e FEAE 53, 7 g9 (D) e yEs i & &8s |

2 |

Problem Figures Answer Figures \® | i %{,s.\\"‘c o
TR ? | DBDS -~ ¢
g T @ ®  © @ 4

Out of the four figures marked (a), (b), (c) and (d), three are similar in a certain manner. Choose the:

figure which is different from the rest. - i
wa].rb;,_;-cm?(d}ﬁﬁsa'aﬁsa*ﬁﬁ.fzaﬁawaﬁmmaaleatﬁgagsﬁa'aw %

4




TT.

IfﬁSb-Bﬁc:g?:mdssb_ﬁ&=I_tm“bc__ g (S o

F?El'dfih—33c-—-97nc333h_65c=|‘3. b 2 T of
i b) -2 5= . = b=
7848, Th N 93 a2
7 u, | Eﬂuml:t:r @ _1) 15 exactly divisible by two numbers between 60 and 7. The numbers are ' X
e ”_““‘“ (2% — 1) § 60 w2 70 2 fewars 2 il enrer it 5y v 7 7w 3 | T 35 e
4) 63& 65 b) 63 & 67 _ore & 65 d) 65 & 67 <] = T
oy pi The least number of square tiles required to pave the ces ¢ tsm 17 cmlong and 9 m 2 cm
4] broad is - pave ceiling of a room - 4
iﬁlﬂ?al"ma&ﬂmgg,@?a mﬁmﬂﬁwﬁagﬁu@ii = TR ap >
B agsd LT
@ , a) 656 b) 738 : dy 902 “v‘s
; ' i Ammcrbuyspm'o!at! 17.T 19 and T seculive yEars. (_omgrumthtavemgc
i cost per litre, if he !'Pﬂds?M&O Wﬂyﬂ i e &T .-Lgﬁe 8 \u Wi
e Q- mqmmmaﬁsmwﬁjﬁ%w@@fﬁ%ﬁam@m ‘-'H- >
e el sTee 59, Hxa B9 6460 HE 3
; R - —— . Ml
B a) T 18.49 v c)?lg"c\" d) ¥21.66 y P ey
81 The ratio of the ages of a man and his wife is 4.1 3, Afier 4 years, this r2tio Swillbe 9:7, !faltl'f‘e time _‘1
“."' r of their marriage, the ratio of their ages was 5 : 3, then how many YEais ago were they = 5
Y B e w2 Ot uzdl S G T wowE 4 33 |4 Tret mme, oI 91 T [ g: 5
L 6 sy ?Hﬂ.w%ﬁ'ﬂaaw@ﬁs;sﬁ?ﬁﬁmtﬁf??ﬁmwmﬁ’ i‘k \ )
ab ~ S a) 8 . y d) 13
| TR i oy - fm-‘?’_\Fmd
=¥ o A 82, Due to a reduction of 6 % n the price of sugar, a man is able to buy | kg more 7'&0‘
] « NG original and reduced su =
i gar. |18
| # =4 HaeE (g S
,,1?5' . dsdEREein & 2 @ e, B v 120 gup R | B 0 JMTRAMINTER |
e < Hmﬂﬁmwﬂfaa?ua' 1 e s -
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The cost of fencing a squarc

A man covers a certain distance 00 a 1oy train, §

10 minutes less. If it moved 2 km/hr slower, 1ad the train moved 4 |
Kkmv'hr fast

e W
kilometres uld have taken 2( L&, 1t would
<0 minutes more t Id have takeq
— Find the distanegiy
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a) 32 \_br60 TN . B
A vessel contains a mixture of Grape, Pineapple . ) %0
Fifteen litres of this mixture _ig_i:_;}ggj_i;m—m-—m‘i;“;n; uices j
added to the vessel. If the resultant quantity of grape juice ; pe juice and 2 |
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a) 120 b) 150
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Vishwas borrowed a total amount ‘Of T 30000, part of it on simple interest
remaining on simple interest rate of 10 p.c.p.a. If at the end of 2 years he midr_ate of 12 pcpa and
the loan amount, what was the amount borrowed at 12 p.epa. ? n all ¥ 36420 to setile

a) T 12000 b) T 16000 ¢) T 17500 d) T 18000
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field @< 2:0 per metre is zﬁm.oso. How much will it cost to lay a three |
inside the field @ ¥ 50 per sq. metre ? o
Heg 3310,0803 | 35 e A TISEEs
o fovre o RearQe o R a2 4

¢) T 77.400 d) None of these -
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e
< 12000

metre wide pavement along the fencing
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a) 37350 b)

& the correctly spelt word :
Consciousness b) expectantily ¢) adwenturus d) ..

Choose the sentence in which adjectives are correctly used.

b) She was not punis he ca
¢) In the opinion of everyone she is wiser than beautiful.

d) It was bitter cold and we preferred not to go out that night.
lternative which best expresses the given sentence in Indirect Speech. \H’

see the cricket match on TV last mght 7°

a) Kiran asked me whether I saw the cricket match on TV the earlier night.

b) Kiran asked me whether | have seen the cricket match on TV the last night.
.n the cricket match on TV the earlier night.

_&yKiran asked me whether I had see
d) Kiran asked me whether you saw the cricket match on TV the last night.

Change the VOICE of the given sentence.

He was driving the car so fast that it skidded on the snowy road.

a) The car was driven by him so fast that it skidded on the snowy road. %

b) The car was being driven by him so fast that it skidded on the snowy road. \

¢) The car had been driven by him 50 fast that it skidded on the snowy road. \\)i%

d) The car hasbeen driven by him so fast that it skidded on the snowy road. \_&
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/2,,/5]-": is better than any other girl that studies in our class.
hed though she came latter than L @

Select the a
Kiran asked me, “Did you
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